PROGRAM TRACE TABLE

Program Source File: 







Directions are listed on the next page – read them all before starting!!
	Line#
	Program Statement
	Robot
	Which row
	Which column
	True / False
	Output
	Thing

	8
	Robot mary = new Robot(ForgetsVille, 0, 0, Direction.EAST, 0);
	(0,0,E,0)
	-
	-
	
	
	

	10
	int whichColumn;
	(0,0,E,0)
	-
	???
	
	
	

	11
	int whichRow = 0;
	(0,0,E,0)
	0
	???
	
	
	

	12
	while(whichRow < 3)
	(0,0,E,0)
	0
	???
	T
	
	

	14
	System.out.println("Now making row: " + whichRow );
	(0,0,E,0)
	0
	???
	
	Now making row: 0
	

	15
	whichColumn = 0;
	(0,0,E,0)
	0
	0
	
	
	

	16
	while (whichColumn < 2)
	(0,0,E,0)
	0
	0
	T
	
	

	18
	System.out.println("Now putting thing at row=" + whichRow + ", col=" + whichColumn);

	(0,0,E,0)
	0
	0
	
	Now putting thing at row 0, col 0
	

	19
	new Thing( ForgetsVille, whichRow, whichColumn);
	(0,0,E,0)
	0
	0
	
	
	(0,0)

	20
	whichColumn = whichColumn + 1;

	(0,0,E,0)
	0
	1
	
	
	(0,0)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	0
	1
	T
	
	(0,0)

	18
	System.out.println("Now putting thing at row=" + whichRow + ", col=" + whichColumn);

	(0,0,E,0)
	0
	1
	
	Now putting thing at row 0, col 1
	(0,0)

	19
	new Thing( ForgetsVille, whichRow, whichColumn);
	(0,0,E,0)
	0
	1
	
	
	(0,0) (0,1)

	20
	whichColumn = whichColumn + 1;

	(0,0,E,0)
	0
	2
	
	
	(0,0) (0,1)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	0
	2
	F
	
	(0,0) (0,1)

	22
	whichRow = whichRow + 1;
	(0,0,E,0)
	1
	2
	
	
	(0,0) (0,1)

	12
	while(whichRow < 3)
	(0,0,E,0)
	1
	2
	T
	
	(0,0) (0,1)

	14
	System.out.println("Now making row: " + whichRow );
	(0,0,E,0)
	1
	2
	
	Now making row: 1
	(0,0) (0,1)

	15
	whichColumn = 0;
	(0,0,E,0)
	1
	0
	
	
	(0,0) (0,1)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	1
	0
	T
	
	(0,0) (0,1)

	18
	System.out.println("Now putting thing at row=" + whichRow + ", col=" + whichColumn);

	(0,0,E,0)
	1
	0
	
	Now putting thing at row 1, col 0
	(0,0) (0,1)

	19
	new Thing( ForgetsVille, whichRow, whichColumn);
	(0,0,E,0)
	1
	0
	
	
	(0,0) (0,1) (1,0)

	20
	whichColumn = whichColumn + 1;

	(0,0,E,0)
	1
	1
	
	
	(0,0) (0,1) (1,0)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	1
	1
	T
	
	(0,0) (0,1) (1,0)

	18
	System.out.println("Now putting thing at row=" + whichRow + ", col=" + whichColumn);

	(0,0,E,0)
	1
	1
	
	Now putting thing at row 1, col 1
	(0,0) (0,1) (1,0)

	19
	new Thing( ForgetsVille, whichRow, whichColumn);
	(0,0,E,0)
	1
	1
	
	
	(0,0) (0,1) (1,0) (1,1)

	20
	whichColumn = whichColumn + 1;

	(0,0,E,0)
	1
	2
	
	
	(0,0) (0,1) (1,0) (1,1)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	1
	2
	F
	
	(0,0) (0,1) (1,0) (1,1)

	22
	whichRow = whichRow + 1;
	(0,0,E,0)
	2
	2
	
	
	(0,0) (0,1) (1,0) (1,1)

	12
	while(whichRow < 3)
	(0,0,E,0)
	2
	2
	T
	
	(0,0) (0,1) (1,0) (1,1)

	14
	System.out.println("Now making row: " + whichRow );
	(0,0,E,0)
	2
	2
	
	Now making row: 2
	(0,0) (0,1) (1,0) (1,1)

	15
	whichColumn = 0;
	(0,0,E,0)
	2
	0
	
	
	(0,0) (0,1) (1,0) (1,1)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	2
	0
	T
	
	(0,0) (0,1) (1,0) (1,1)

	18
	System.out.println("Now putting thing at row=" + whichRow + ", col=" + whichColumn);

	(0,0,E,0)
	2
	0
	
	Now putting thing at row 2, col 0
	(0,0) (0,1) (1,0) (1,1)

	19
	new Thing( ForgetsVille, whichRow, whichColumn);
	(0,0,E,0)
	2
	0
	
	
	(0,0) (0,1) (1,0) (1,1) (2,0)

	20
	whichColumn = whichColumn + 1;

	(0,0,E,0)
	2
	1
	
	
	(0,0) (0,1) (1,0) (1,1) (2,0)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	2
	1
	T
	
	(0,0) (0,1) (1,0) (1,1) (2,0)

	18
	System.out.println("Now putting thing at row=" + whichRow + ", col=" + whichColumn);

	(0,0,E,0)
	2
	1
	
	Now putting thing at row 2, col 1
	(0,0) (0,1) (1,0) (1,1) (2,0)

	19
	new Thing( ForgetsVille, whichRow, whichColumn);
	(0,0,E,0)
	2
	1
	
	
	(0,0) (0,1) (1,0) (1,1) (2,0) (2,1)

	20
	whichColumn = whichColumn + 1;

	(0,0,E,0)
	2
	2
	
	
	(0,0) (0,1) (1,0) (1,1) (2,0) (2,1)

	16
	while (whichColumn < 2)
	(0,0,E,0)
	2
	2
	F
	
	(0,0) (0,1) (1,0) (1,1) (2,0) (2,1)

	22
	whichRow = whichRow + 1;
	(0,0,E,0)
	3
	2
	
	
	(0,0) (0,1) (1,0) (1,1) (2,0) (2,1)

	12
	while(whichRow < 3)
	(0,0,E,0)
	3
	2
	F
	
	(0,0) (0,1) (1,0) (1,1) (2,0) (2,1)

	25
	whichRow = 0;
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	



